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jxsin(nzix)dx
0
Uu=x = du=dx
dv=sin(nzﬂ)dx = v=—%cos($>
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jxsin(nzﬂ)dx=uv—jvdu
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= —%COS (nzn) + nziz [Sin ("7”) B 0]
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[ () = = con () + iz ()
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j(Z x) sin (mzrx) dx
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2 sin (nzix) dx — f x sin (nzix) dx
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- _2 nzn COS mztx]l 12; COS nnxL nzn CoS (nzix) dx
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= —% [cos(mt) — cos (nzn)] +— [Zcos(mr) — 1. cos (nzn)]
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— —icos(mt) + * cos (nn) + * cos(nm) — icos (E)
nmn nm 2 nn nr 2
— n;trz [sin(mt) — sin (%)]
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if n =even,then A, =0

_ 8 /mnm
if n=odd,then A, = sm( )
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u(x,t) = Z (n2n2 sin (7)> coS (7 ct) sin (7 x)
n=1
(1) = 8 (nct) _ (nx) +<—8) (3nct) _ (37Tx>
ulx,t) = —cos(—-|sin{ 92) cos(——)sin(—
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A = (1)3712 sin (g) %
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A3 = 3y Sm( 2 ) ~ 9n2
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